W4 | ROEMT  mEiEREE AR B - U SESREERERRE § g ig%%%%
HH - LHE - FER - A Bikk HLAZ ek (gilED) e (4m) KR S
S|
= 1
Sl (FRAL - 3T ERS)
= 1
Tee%
X 1
éae 20
s 1
TSRS R
= 1
IR R A=15, 000m2
X 1
FI I FEREGR A
= 1
FIH SERER A
= 1
BB A
X 1
[ELHERE 2
= 1
Jic By A
= 1
1 T




B
W4 | ROEMT  mEiEREE AR B - U SESREERERRE B TR RS
H OH [ELHERE 7Y
HH - LHE - FER - A Bikk HLAZ ek (gilED) e (4m) KR S
ficde (Fa - fE A i)
= 1
R L(E5 %
= 1
BT AR ERCE GRED)
X 1
EBERAM (2 OfbFATRR <)
= 1
Z O A
= 1
— W E AR
X 1
BEES AT
= 1
9 TR I




